N° derue | N°Linéaire )
i . . i Commentaire
actuel impair impair
1 49
1A 51
1B 53
1C 55
1D 63
3 165
5 189
7 207
7A 247
78 269
7C 299
9B 297
9 313
11 339
13 369
13bis 497
15 649
17 747
19A 941
198B 969
19 933
19C 1005
21 1057
1063
1065
1071
1075
21A 1087
1103
21B 1115
21C 1129
23 1147
23 A 1157
23 B 1177
25 1205
25B 1271
27 1355
29 1385
29bis 1417
29ter 1455
31 1471
33 1481




N° derue | N°Linéaire )
] ) Commentaire

actuel pair pair
2A 110
2 202

4 294

6 360

8 372
10 388
12 412
16 556
16 bis 736
16A 964
18 1000
18 bis 1024
20 1040
20bis 1042
22 1070
24 1096
24BIS 1126
26 1148
28 1260
30 1342
32 1360
34 1372
36 1388
38 1408
40 1428




